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Rule 1: One point beyond Zone A (more than 3 SD from center line)

Rule 2: Nine points in a row in Zone C or beyond (on same side of center line)

Rule 3: Six points in a row, all increasing or all decreasing

Rule 4: Fourteen points in a row, alternating up and down

Rule 5: Two out of three points in a row in Zone A or beyond (more than 2 SD from center line, same side)
Rule 6: Four out of five points in a row in Zone B or beyond (more than 1 SD from center line, same side)
Rule 7: Fifteen points in a row in Zone C (within 1 SD of center line, either side)

Rule 8: Eight points in a row outside Zone C (more than 1 SD from center line, either side)
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Zn:(Rt -R.,)? reject Hoif d <d

RMSE =+/MSD R =Y, -V, d=12 inconclusiveif d, <d <d,

DR do not reject Hoif d > d,,

t=1
reject Hoif d >4-d, reject Hoif d <d_ ord>4-d,
inconclusiveif 4-d, <d <4-d_ inconclusiveif d, <d <d, or4-d, <d<4-d,

do not reject Hoif d <4 -d, do not reject Hoif d, <d <4-d,



